


































M一般入試_機械工学 P_熱力学（2023年 8月実施分）略解 
 
熱力学 (Thermodynamics) 
2023年 8月実施の入試問題の略解 (Brief explanations of the entrance examination in August 2023) 
 
問題 1 (Question 1) 
(a) 理想気体の熱的状態方程式を使い， 3

3 3 3 1.00 mV RT p 。 
Using the thermal equation of state of an ideal gas, 3

3 3 3 1.00 mV RT p . 

(b) 理想気体の等エントロピー関係式を使い，
1 1

1 1
3 2 2 3 1 3 4.00V V T T T T 。 

Using the isentropic relation of an ideal gas, 
1 1

1 1
3 2 2 3 1 3 4.00V V T T T T . 

(c) 第一法則より， 23 2 3 1 3 154 kJ
1

RW c T T T T 。 

From the first law, 23 2 3 1 3 154 kJ
1

RW c T T T T . 

(d) 第一法則より，正味の仕事 netW は正味の吸熱量に等しく，さらにこれは過程1 2と過程3 4
（等温過程）で動作気体がする仕事に等しい。したがって，次のようになる。 

2 4

1 3

2 4 2 2 net
net 1 3 1 3

1 3 1 1 1 3

1 1
1 1

2 3 4 1 4 1

3 2 1 4 3 2

d d ln ln ln exp 7.00
V V

V V

V V V V WW p V p V RT RT R T T
V V V V R T T

V T T V V V
V T T V V V

 

From the first law, the net work netW  is equal to the net heat supplied to the system, and is equal to the 
net work done in the isothermal processes 1 2  and 3 4 . Therefore, the answer is as follows. 

2 4

1 3

2 4 2 2 net
net 1 3 1 3

1 3 1 1 1 3

1 1
1 1

2 3 4 1 4 1

3 2 1 4 3 2

d d ln ln ln exp 7.00
V V

V V

V V V V WW p V p V RT RT R T T
V V V V R T T

V T T V V V
V T T V V V

 

(e) 第一法則より，
2

1

1 3 2 1net net 3

12 1 2 1 1

ln
1 0.393

lnd
V

V

R T T V VW W T
Q RT V V Tp V

。 

From the first law, 
2

1

1 3 2 1net net 3

12 1 2 1 1

ln
1 0.393

lnd
V

V

R T T V VW W T
Q RT V V Tp V

. 

 
問題 2 (Question 2) 

(a) この過程は定圧過程と見なせるから fin
fin ini

ini

d d lnp p
TC T T S S S C
T
であり，また両固体物の熱

容量が等しいから A B
1 340 K

2
T TT である。したがって，次のようになる。 

A B A B A B
340 340461 ln 101.2 J K, 461 ln 82.9 J K, 18.3 J K
273 407

S S S S S  

Because this process can be considered as an isobaric process, we can write as
fin

fin ini
ini

d d lnp p
TC T T S S S C
T

. Because the heat capacities of the objects A and B are the same, we 



can write as A B
1 340 K

2
T TT . Therefore, the answers are as follows. 

A B A B A B
340 340461 ln 101.2 J K, 461 ln 82.9 J K, 18.3 J K
273 407

S S S S S  

(b) 温度一定の下で融解および蒸発が起こるから，次のようになる。 

fus vap
334 22601.22 kJ K, 6.06 kJ K

273.15 373.15
S S  

Isobaric fusion and vaporization processes are isothermal processes. Therefore, the answers are as follows. 

fus vap
334 22601.22 kJ K, 6.06 kJ K

273.15 373.15
S S  

(c) 
p TT

G S
p T p

および
pT p

G V
T p T

と書けるので，
pT

S V
p T

が得られる。 

Because of 
p TT

G S
p T p

 and 
pT p

G V
T p T

, we can write as 
pT

S V
p T

. 

(d) d d d d
T T T T

H S G SH T S S T G T T V
p p p p

と書けるから，設問(c)の答えを

使い，
pT

H VT V
p T

と書ける。 

Because we can write as d d d d
T T T T

H S G SH T S S T G T T V
p p p p

, using the 

answer of the question (c), we can write as 
pT

H VT V
p T

. 

(e) 設問(d)の答えと与えられた熱的状態方程式を使い，N が ,T pの関数であることに注意して，以
下のように計算できる。 

u ln
lnp p p pT

H V R N T N NT V T T N V V V
p T p T N T T

 

Using the answer of the question (d) and the given thermal equation of state, and noting that N  is a 
function of T  and p , we can calculate as follows. 

u ln
lnp p p pT

H V R N T N NT V T T N V V V
p T p T N T T

 

 
以上 



M一般入試_機械工学 P_流体力学（2023年 8月実施分）略解 
 
流体力学 (Fluid Mechanics) 
2023年 8月実施の入試問題の略解 (Brief explanations of the entrance examination in August 2023) 
 
問題 1 (Question 1) 

(a) 2 20 0
f o

1 1
2 2

p pxv g v  

(b) 条件 f ov v より，設問(a)の答えを使い， 2
o o

1 2
2

x xv g v g と書ける。 

Using the condition of f ov v   and the answer of the question (a), we can write as 
2

o o
1 2
2

x xv g v g . 

(c) 22 22A R R x Rx x  

(d) 連続の式より f oA av v と書ける。したがって，設問(b)(c)の答えを使い，次のように書ける。 

o
f 2

2
2
a xa

A Rx x
gv

v  

The continuity equation can be written as f oA av v . Therefore, using the answers of questions (b) and 
(c), we can write as follows. 

o
f 2

2
2
a xa

A Rx x
gv

v  

(e) f
d
d
x
t

v だから，設問(d)の結果を使い，次のように計算できる。 

1 3 5 50
2 2 2 2

2 0

2 2 2d 14 142 d d
d 15 15 22

T

R

a x a ax Rx x x t R T T R
t aRx x

g g g

g
 

Because of f
d
d
x
t

v , using the answer of the question (d), we can calculate as follows. 

1 3 5 50
2 2 2 2

2 0

2 2 2d 14 142 d d
d 15 15 22

T

R

a x a ax Rx x x t R T T R
t aRx x

g g g

g
 

 
問題 2 (Question 2) 

(a) 質量保存則より 2 rrQ v と書けるから
2r r
Q

v 。流れの対称性より 0v 。 

From the law of mass conservation, we can write as 2 rrQ v  . Therefore, 
2r r
Q

v  . From the 

symmetry of the flow, 0v . 

(b) 速度ポテンシャルの定義より， 1, 0
2rr r r
Q

v v と書ける。したがって，与えられた

条件を使い，次のように書ける。 

0 1

d0 d d ln
d 2 2 2

r
r r r

r r r
Q Q Q  

From the definition of the velocity potential, we can write as 1, 0
2rr r r
Q

v v . Therefore, 

using the given condition, we can write as follows. 

0 1

d0 d d ln
d 2 2 2

r
r r r

r r r
Q Q Q  

 



(c)  

 
(d) 循環の定義

C S
d dSl nv v より，いまの場合は原点を囲む任意の閉曲線で計算すれ

ば良いから，半径 rの円を使い，
2

0
d 0rv と計算できる。 

From the definition of the circulation: 
C S

d dSl nv v , we can calculate it using any closed 

curve enclosing the origin in this case. Therefore, using a circle of radius r  , we can calculate the 
circulation as 

2

0
d 0rv . 

(e) 設問(b)の答えは 2 2ln
2

x yQ
と書け，非圧縮性ポテンシャル流れの速度ポテンシャルは重

ね合わせられるから，答えは次のように書ける。 
2 2 2 22 2 2 2ln ln ln

2 2 4
x a y x a y x a y x a yQ Q Q  

The answer of the question (b) can be written as 2 2ln
2

x yQ , and the velocity potential of an 

incompressible potential flow can be superimposed. Therefore, the answer can be written as follows. 
2 2 2 22 2 2 2ln ln ln

2 2 4
x a y x a y x a y x a yQ Q Q  

 
以上 


